BARANE R - AAKETER (IBAEHET)

ARNTEREFSREHZFHT - AOKER

1T 4 AR X HEH 5 z 5
AGERT Hh I AREHET 1,147 1,464 1,465 2,929
RiEHhig Kig 817 890 904 1,794
2K BT 7 $h 32§ AHET 7 196 189 226 415
BT B Hhig ARETER 881 944 1,051 1,995
TR b i TR 1,053 1,212 1,388 2,600
=/ Eihig B/E 476 537 586 1,123
K2R Jﬁ’ﬁ‘m 202 215 270 485
Hma 105 144 155 299
iR ithig iR 263 297 355 652
s ZAR L 95 97 130 227
AR KE 899 1,032 1,072 2,104
it 2 Ehis dzE 477 521 539 1,060
B M-Af 163 185 185 370
LA 7ot R 199 219 226 445
F& Hhig Be 2,860 3,364 3,755 7,119
HHE A Hhig HES 1,924 2,248 2,508 4,756
ERAE) &g AEN&—~mTH 779 950 1,030 1,980
PR &Rz &EE~ATH 1,481 2,240 2,282 4522
M B A Hhig MRS 2,316 3,347 3,395 6,742
HE3E A Hhig HmES 2,288 3,354 3,446 6,800
LA Hhig wIlUE 1,558 2,284 2,303 4,587
=11 20,179 25,733 27,271 53,004

BARAGFEEHF - AOEEF (I8 1LELET)

1T I 4 AR X HEH 5 z i
" e i3 H 190 245 291 536
AR FafaH 416 550 601 1,151
J6 3 B #hisg FEE 416 570 586 1,156
B E Hhig BETE 663 865 895 1,760
HEF 53 52 79 131
- LR 138 176 183 359
BRI B3 235 339 365 704
ek 44 40 68 108
a1&E 53 72 91 163
tR2&E 135 152 201 353
IRt ERithis +Ia3%F 72 95 112 207
+IH4AE 53 67 74 141
+IH5%E 101 134 137 271
+tih6e&E 156 179 208 387
tR7%& 69 83 85 168
L inraEbitig +in8&E 92 118 118 236
+IHo%E 109 121 136 257
El10& 90 100 122 222
WERXsN 29 28 32 60
= e X 4% 6 4 6 10
R4 68 53 74 127
aEt 3,188 4,043 4,464 8,507

T R29%F58 K H
THH 5 5 X H

BAAERARD 29,101 36,275 38,888 75,163
SEAERAO 188 276 243 519
KENHAO 29,289 36,551 39,131 75,682

BAAFEREME- AOKETE (IBNE)

1T g £ AR X HEH 5 g 5

b b =] 245 296 312 608
BRI b N 126 159 173 332
=H 107 141 151 292
st 1 B 67 79 93 172
IR PR AL KE 211 247 248 495
EIEFE 20 25 27 52
FEFTHT 171 178 205 383
HTHET Hh iz h#TET 135 151 156 307
AL FrHET 133 175 150 325
FaET 181 214 250 464
FG T 16 24 29 53
fin B thig chET 38 36 39 75
BT 99 103 121 224
& 87 89 117 206
i 142 146 188 334
" ERER—TH 54 55 72 127
BRI A1 ERER=TH 291 333 345 678
ERER=TH 57 78 86 164
Rill 58 52 64 116
Lz k 33 18 36 54
it 41 47 47 94
hnyse BAR ik ING L 58 57 63 120
INETF 67 66 68 134
$£7 73 82 96 178
(LI 27 39 36 75
HERE 98 104 108 212
FeE) 5 111 134 149 283
AR 94 102 131 233
il 46 48 53 101
R R Hh i ® 33 37 38 75
BEKE& 62 64 77 141
IhVEF 72 73 94 167
mp 41 48 58 106
B 36 39 45 84
=i 37 40 48 88
B/ 12 14 17 31
N 5 5 4 9
7/ 31 39 43 82
ETF 22 28 28 56
2 i ITFF 15 16 21 37
e 10 13 11 24
=P 9 7 9 16
i35 5 3 3 6
N 13 11 15 26
bus 30 37 45 82
AR 45 53 72 125
FINTE & i EIGA= 2,370 2,694 2,912 5,606
=1 5734 6,499 7,153 13,652

T 2958 RIBTE

5% HIA R

X5 THHE 5 z H

BARAERAO 29,050 36,231 38,839 75,070

SEAERAO 189 275 244 519

KENHAQD 29,239 36,506 39,083 75,589
(BEH) (BH)

X5 TR 5 5 = B X5 THH 5 = =
BeE—TH 777 831 951 1,782 WLE—TE 166 206 206 412
HEZTH 562 634 727 1,361 WUE=TH 0 0 0 0
WE=ZTH 268 311 340 651 WILE=TH 0 0 0 0
HemTH 207 251 279 530 WILEMTE 0 0 0 0
HWERTH 756 986 1,062 2,048 WILERTHB 93 144 141 285
H&EATH 88 105 116 221 WILENRTEB 227 333 344 677
HWELTH 202 246 280 526 WLEtETHE 457 698 693 1,391

HESE—TH 171 205 243 448 WILE/INTE 0 0 0 0
HEEZTH 251 324 333 657 BWILENTHE 15 16 23 39
HEEB=TH 8 9 9 18 BWLE+TE 280 414 431 845
HEBMTH 0 0 0 0 wea+—TH 246 371 376 747
HEBRTH 308 362 400 762 WueE+=TH 0 0 0 0
HEBNTHE 174 201 249 450 WLE+=TH 74 102 89 191
HESETHE 348 387 437 824 INET 1,558 2,284 2,303 4,587
HEEB/N\THE 369 455 491 946 =11 13,206 17,787 18,719 36,506
HEBATH 295 305 346 651

KZINE—TH 334 408 432 840

KEZJINEZTH 100 121 126 247

KENE=ZTH 345 421 472 893

KZEINEWMTH 0 0 0 0

KEINERTH 240 397 387 784

REINEARTE 543 767 780 1,547 (&FH)

KZINELTH 324 472 485 957 X5 HHH 5 = i

KZINE/NTH 373 603 630 1,233 mmEe—TH 166 192 206 398

KEINEATH 1 1 0 1 EmE&E=TH 141 148 166 314
MEE—TH 509 769 709 1,478 ENE&E=TH 142 145 170 315
MEEZ=ZTH 128 206 195 401 FENEEmTH 118 133 151 284
MWRE=TH 246 343 377 720 FEINZEERTH 52 61 57 118
MWREMTH 261 344 364 708 EmnE&E/RTH 166 182 204 386
MEERTH 273 395 405 800 mAmEaetTHE 156 166 199 365
MEENRTH 379 538 547 1,085 EmEa/\TH 186 208 233 441
MWEREETH 298 464 468 932 EmEaenTE 188 212 236 448
MEE/NTH 222 288 330 618 mnEs+TH 180 204 215 419
m\EE—TH 277 309 314 623 EmxEe+—TH 251 290 291 581
WMELSZ-THE 372 541 555 1,096 EmE&sE+=TH 216 268 265 533
WEE=TH 362 569 600 1,169 Emxe+=TH 149 177 184 361
wBEAEMTH 301 450 480 930 Emxae+mTE 121 137 169 306
W\EERTE 374 594 617 1,211 Emxe+ETH 138 171 166 337
BEBANTH 329 587 556 1,143 =111 2,370 2,694 2,912 5,606
WEELTE 273 304 324 628
HwmEE/\TH 0 0 0 0

INET 11,648 15,503 16,416 31,919




